Bid 186-16 GUARDRAIL COMPONENTS-Re-Bid

Guard Rail Components (Cable & Beam)

Extended Totals per Vendor

HIGHWAY MAINTENANCE DISTRICTS Chemung Gregory Highway AWARD |NO BID Tie
Part No. Part Description D1| D2 | D3| D4 | D5 | D6 | Total Order
SKT Terminal End Reflector
0.7 Yellow Black Chevron 12| 10 30 52 $ $ 1,365.00 | § 1,040.00 | $ -
ET Terminal End Reflector
requires two 12"x12" Yellow
Black Chevron Reflectors-
(Stacked on top of eachother-
0.8 Used only on Approach Ends) 18 40 | 10 68 $ $ - | $ -
MELT Reflective Tape Panel
0.12 Silver (Silver on Right) 5 5 $ $ - $ $ -
Posts - Wood -Treated
1.1 Rectangular 6" x 8" x 6' 50 50 $ $ - | 1,650.00 | $ 2,750.00
Wood Post 5-1/2"x 7-1/2"x 45" -
(Al EAGRTS i.e. SKT, ET &
15 FLEAT use this Wood Post.) 30 50 10 90 $ $ 2,835.00 | $ 2,430.00 | $ 4,113.00
Blocks 6" (6" x 8" x 14') Treated
1.7 Wood Offset Blocks 300 300 $ $ 2,835.00 | $ 1,950.00 | $ 1,875.00
Wood Post Type A - ELT*** (see
1.8 note in shading) 50 10 60 $ $ - $ 1,620.00 | $ 1,395.00
1.10 Wood Post Type B 30 50 80 $ $ - $ 2,640.00 | $ 2,620.00
2.1 Poly Offset Blocks 400 500 900 $ $ 4,725.00 | $ 3,375.00 | $ 3,600.00
2.2 W6 x 8.5 Steel Posts 6' 150 200 | 400 750 $ $ 22,125.00 | $ 21,937.50 | $ 20,887.50
2.3 W6 x 8.5 Steel Posts 7' 100 | 400 400 200 | 300 | 100 1,500 $ $ 51,000.00 | $ 51,375.00 | $ 49,875.00
2.4 W6 x 8.5 Steel Posts 8' 100 200 300 $ $ 12,900.00 | $ 12,075.00 | $ 11,700.00
3.4 5/8" x 2" Post Bolt 250 100 350 $ $ 12950 | $ 26250 | $ 157.50
3.6 5/8" x 10" Post Bolt 200 400| 100 500 | 300 1,500 $ $ 1,890.00 | $ 1,875.00 | $ 1,800.00
3.8 5/8" x 18" Post Bolt 200 200 $ $ 450.00 | $ 410.00 | $ 380.00
5/8" DR Hex Nuts (Double
3.11 Recessed) 500 1500 | 500 2,500 $ $ 850.00 | $ 675.00 | $ 750.00
5/8" Round Washer x 1-3/4" OD
3.12 Washer (Wood Posts) 500 500 $ $ 115.00 | $ 125.00 | $ 125.00
3.17 5/8" x 1 1/4" Splice Bolts 1000 |500 1,500 $ $ 480.00 | $ 405.00 | $ 480.00
Midsplice -W Beam GR Section
12Ga-12' 6" with intermittent
4.1 holes @ 3' 1 1/2" 50 200 25| 250 | 35 560 $ $ 24,987.20 | $ 23,800.00 | $ 24,360.00
Midsplice -W Beam GR Section
12Ga-25' 6" with intermittent
4.2 holes @ 3'11/2" 50 100 120] 250 | 35 555 $ $ 4428345 | $ 44,261.25 | $ 43,290.00
4.3 W Beam GR Section 12-6"x 42" 5 5 $ $ 22860 | $ 250.00 | $ 239.25
Mid-Splice Guardrail Transition
Section 9'4.5" x 3- 1 1/2 punch
for MGS (Use This to transition
4.8 from X-Lite Tangent, X-Tension) 10 2 12 $ $ 561.24 | § 540.00 [ $ 540.00 |Tie Bid Draw
EAGRT 50 ft - SKT 350 Roadway
6.13 Systems 12 41 6 22 $ $ 39,930.00 | § 36,850.00 | $ 56,650.00
EAGRT 50 ft - X-LITE TL3 - for
6.14 MGS system 2 2 4 $ $ - |8 $ 5,400.00
EAGRT 50 ft - Softstop - for MGS
6.15 System 2 1 5 8 $ $ - |8 $ -
"ET Head" = Guard Rail Extruder
13.3 (Part No. 995A) 8 8 $ $ 5,060.00 | § - s -
13.4 3/8 x 4" Lag Screw 50 50 $ $ 60.50 [ § 100.00 | $ -
14.4 CRT Terminal Unit Complete 20 20 $ $ 15,840.00 | § 15,000.00 | $ 22,000.00
15.4 3/4" Cable splice 10 10 $ $ - |8 $ 600.00
Powder Coated - W Beam GR
18.3 Section 12'-6"x 6-3" 60 60 $ $ - 13 $ -
Powder Coated - W Beam GR
Section 25'-0"x 6-3" 3 1 1/2
18.7 punch 15 15 $ $ - |8 $ -
Powder Coated - 25' ET Anchor
18.9 Panel 12 12 $ $ - |8 $ -
18.16 Powder Coated - Splice Bolt 500 500 $ $ - s $ -
18.20 Powder Coated - ET Struts 6 6 $ $ - $ $ -
191 NU-GUARD Steel Posts (Nu-
Guard), 66" 100 50 150 $ $ 5,362.50 | $ $ -
193 NU-GUARD Steel Posts (Nu-
Guard), 7-6” 200 50 250 $ $ 10,450.00 | $ $ -
196 NU-GUARD Steel Posts (Nu-
Guard), 9-6" 50 50 $ $ 2,915.00 | $ $ -
107 NU-GUARD 3.5[90] X 1/4[5]
Washer 200 200] 50 450 $ $ 1,062.00 | $ $ -
199 NU-GUARD 3.5" [90] Guardrail
post bolt 200 200] 50 450 $ $ 382.50 | $ $ -
1911 NU-GUARD NUT (for 3.5" post
hole bolt) 200] 50 250 $ $ 87.50 | § $ -
ET Plus Replacement Parts for End Terminal Units )
Chemung Gregory Highway
PartNo. | Part Description [ p1] p2] 03] D4 D5 | D6 | Total Order




Guard Rail Components (Cable & Beam) Extended Totals per Vendor

HIGHWAY MAINTENANCE DISTRICTS Yyl q AWARD |NO BID Tie
Chemung Gregory Highway
Part No. Part Description D1| D2 | D3| D4 | D5 | D6 | Total Order
12/12'6/6'3/S Anchor Panel
32G (GUARDRAIL) 5 5 $ - |s 551.25 | § - |s -
704A | CABLE ANCHOR BRACKET 5 5 $ - s 236.25 [ $ B E -
ET-PLUS EXTRUDER (Also
995A 13.3) 2 2 $ - $ 1,265.00 | $ - $ -
3478G _ |5/8' X 7 172" HEX HD BOLT 25 25 $ - s 3400 [ $ $ -
3701G  |3/4" FLAT WASHER (Also 3.16) 2% 25 $ $ 6.00 [ $ $ -
3704G 3/4" HEX NUT (Also 3.15) 25 25 $ $ 16.50 | $ $ -
3717G _ |3/4" X2 172" HEX HD BOLT 25 25 $ $ 35.25 | § $ -
4254G 3/8" FLAT WASHER 100 100 $ $ 24.00 [ § $ -
3/8" FENDER WASHER (1 1/2
4255G 00) 100 100 $ $ 24.00 | § $ -
258G |3/8' LOCKWASHER 100 100 $ $ 2400 $ $ -
261G |3/8' X 1 172" HEX HD BOLT 100 100 $ $ 37.00 [ $ $ -
389G |7/16' FLAT WASHER 100 100 $ $ 17.00 | § $ -
4390G __ |7/16" X 1 112" HEX HD BOLT 100 100 $ $ 37.00 [ $ $ -
393G |7/16" LOCK WASHER 100 100 $ $ 3200 $ $ -
396G |7/16" HEXNUT 100 100 $ $ 37.00 [ $ $ -
4699G | 3/4" LOCK WASHER 100 100 $ $ 2400 $ $ -
6321G __ |3/8' X 2" HEX HD BOLT 100 100 $ $ 37.00 [ $ $ -
6405G  [3/8"HEXNUT 100 100 $ $ 32.00 | § $ -
STEEL POSTS (Special Break
14578G Away Style-Post #2-8 in System) 21 25 46 $ - $ 247940 | $ - $ -
33871A  |*POST ET2000 HBA #1 TOP 10| 10 10 30 $ - s 1,716.00 | § - |s -
**POST ET2000 HBA #1
33873A |BOTTOM 5 10 15 $ - |8 1,155.00 | § - |$ -
SKT Replacement Parts for End Terminal Units )
Roadsaf Chemung Gregory Highway
Part No. Part Description D1| D2 | D3| D4 | D5 | D6 | Total Order
12/12-6/6'3/S Anchor Panel 12.5'
SF1303  [(GUARDRAIL) 15 5 20 $ - S 2,750.00 | § 2,700.00 | $ -
12/25'16'3" Anchor Panel 25'
(GUARDRAIL) 10 5 15 $ - $ - $ 2,625.00 | $ -
E760 CABLE ANCHOR BRACKET 20 20 $ - |s 990.00 | § 800.00 | $ -
E750 5/8" X 8" X 8" BEARING PLATE 20 20 $ $ 330.00 | $ 400.00 | $ -
E770 |BCT Cable Anchor Bracket 30 30 $ $ - $ 1,950.00 | $ -
S3000  |Impact Head 0 $ $ - |8 - |8 -
NO516  |5/16" Hex Nut 200 | 50 250 $ $ - |$ 250.00 | $ -
W0516  |5/16" Washer 200 | 50 250 $ $ - |$ 250.00 | $ -
B5160104A |5/16" Hex Bolt 200 | 50 250 $ $ - |8 25000 [ $ -
3/4" X 2 1/2" HEX HD BOLT 25 25 $ $ - $ 75.00 | $ -
B580904A |5/8'x9" Hex Bolt GRD 5 10 2 | 25 55 $ $ - |8 151.25 | $ -
POLY BLOCK 12 X 6 X8 DR 500 500 $ $ - $ 1,875.00 | $ -
B340854A |3/4"x8 1/2" Hex Bolt Grd A449 20 20 $ $ - |9 66.00 | $ -
NO30  |3/4"HEXNUT 200 200 $ $ - |8 150.00 | $ -
N100 1"HEX NUT 220 220 $ $ - |$ 220.00 | $ -
w100  |1"WASHER 200 200 $ $ - |8 150.00 | $ -
SB58A Cable Achor Brkt Shoulder Bolt 200 200 $ - s - |8 200.00 | $ -
NO55A  |1/2" A325 Structural Nuts 200 200 $ - |8 - |$ 100.00 | $ -
11/16" ODx9/16"ID A325
WO50A Structural Washer 400 400 $ $ - $ 160.00 | $ -
TPHP1B |1st Post Bottom 20 2015 45 $ $ 9,900.00 | $ 8,325.00 | $ -
TPHP1A |1stPost Top 20 20 | 10 50 $ $ 2,750.00 | § 3,100.00 | $ -
HP3B 2nd Post Bottom 20 2|5 45 $ $ 3,712.50 | $ 2,700.00 | $ -
HP2A 2nd Post Top 20 20 | 10 50 $ $ 5575.00 | § 2,250.00 | $ -
X-Lite Tangent/MGS Replacement Parts for End Units - Both 37' 6" TL2 and 50' TL3 Roadsafe Chemung Gregory Highway
COMPLETE XLITE KIT (See

detail in blue below for parts
contained in kit AND THEN the
additonal list of standard beams
& posts that need to be added
XLITE KIT*** |from your District stock.) 2 2 4 $ 5,360.00 | § - 18 - |8 3,240.00




